
U
L

R
U
L

R
C

U
S

 
 
 
 
 
I
n
s
t
a
l
l
a
t
i
o
n
 manual for

 
 
 
 
 
 
 
 
      

3500D3RC/G
Dimensions 

: 
D11.8"H9.2"

L3
Collection : Polaris
Bulb Type : LED PCB 27W 3000K
Lamp Weight :   9.9  LBS
Total Weigh

t :  11.4 LBS

Thank you f
or choosing our product(s).

Our Company is actively involved in every step o
f the

production.

Our product(s) are designed to be utilized for e
very

application that graces your home or business.
We pride ourselves in providing the most prompt 

and
courtesy service to all of the valued custom

ers.
Please find

 the enclosed detailed instructions and r
ead

carefully for proper installation. If you ha
ve any

questions, our professional customer service tea
m is

committed to assisting you, please call our 
toll fr

ee
HOTLINE AT:



P
0
1

P
0
5

P09

P07
P08

P10
P11
P12
P13

P14
P15

P16

P17

P18

P09
P10

P11

P13

P14
P15
P09
P10
P11



Step 1
Please use the parts list to ensure you are
not missing any parts.

3
5
0
0
D
3
R

 
P
A
R
T
S
 
L
I
S
T

ZD

ZE ZA

ZC

bracket system

1

M4*32 screw

dimmable LED driver

M4*40 screw

ZG

33131

screw pad

M10*T5 nut

M10*20 connector

∅
11.8" S.S plate

P02

P03

P05

P06

P01

91812 126 3

P16

54 33

M4*15 screw

11





  
   

 
 
   

  
  

Co
ng

r
a
t
u
la

ti
on

s!

You a
re
 now done 

in
stalling your El

egant lighting
fi

x
tu

re
.S

it
 b

ac
k
 a

nd
 a

d
mi

re
 
each crystal as it will become

t
he

 
st

at
em

en
t 

pi
ec

e 
for your room/house.

I
f yo

u 
requir

e any ad
di
tional assistance,

pl
ea

se
 c

on
ta

ct
 u

s 
at 1-888-388-3390.

Th
an

k you!

C
le

an
in

g
 
a
n
d 

Ma
in

tenance Instruction

The
 f
rame and canopy surface is sta

in
less polis

hed.
Ple

as
e use a clean,soft and dry clo

th
 to clean.

Do n
ot 

use
a
ny h

ard 
ob

je
ct
 o
r 
to
ol
s 
to
 s
cr
at
ch
 o
n 
th
e 
surface

 of
 the

m
etal. 

Fa
i
lu
re
 to

 f
ol
l
ow
 t
he
se
 in

s
tr
uc
ti
on
s automat

ically
v
o
id

s
 
t
he

 
guarantee.

C
le

an
in

g
 
a
n
d 

Ma
in

tenance of Crystals
W
et a s

of
t
 c
ot
ton

 f
ab
r
ic
 i
n 
cl
ean

 
wa
rm
 w
at
er and wi

pe
g
e
n
tl

y
,
 
t
h
e
n
 
p
o
l
i
s
h
 
w
i
t
h
 
a dry 

soft cotton fabric.

To
 O

rd
er

 R
ep

lacement Parts
Pl

ea
s
e 

c
o
n
t
a
ct

 
th

e
 
st

o
r
e 

wh
e
re the pro

duct was p
ur
chased

o
r co

ntac
t 

us
 a
t 
th
e 
ad
dr
es
s 
sh
ow
n 
on
 t
he
 r
everse 

sid
e.

For
 e
ase of ordering, you may use t

he
 original 

part
s l

ist
,
indi

ca
ti
n
g 
th
e 
mo
del

 
nu
mb
er
,p
ar
t 
num

be
r
 a
nd quanti

ty
 and

f
axin

g 
it
 
to
 o
ur
 c
ust

o
me
r 
se
rv
ic
e 
dep

ar
t
me
nt at

2
15

-4
2
3
-8

8
82

.
 Y

o
u 

w
i
ll

 
b
e 

co
ntacted with pr

ices prior to
s
h
i
p
me

n
t
. 

A
l
l 

o
rd

e
rs
 must be pre

-paid.



E
l
e
ga

nt
 
L
i
g
ht

in
g
 
W
a
rr
a
n
ty

T
he
 finis

h an
d 
fr
am
e 
of
 y
our 

new 
ch
andelier

o
r
 f

i
x
tu

r
e 

a
r
e
 w

a
rr

an
t
ed for a period of two

(2
)
 
y
ea

r
s 

fr
o
m 

t
he

 d
ate of purchase. Our

co
m
p
a
ny

 
w
il

l
,
 a

t
 i

ts option, repair or
re

p
la

c
e
 a

n
y 

f
ra

me
 
t
ha

t has a defect in the
ma

t
e
ri

a
l
s 

o
r
 w

o
r
km

a
n
sh

ip during the warranty
p
er
iod. A

ll c
ry
st
al
s 
ar
e 
guar

ante
ed
 for their

o
ri
ginal qual

it
y 
during the

 life of the
chand

el
ie
r.
 B
reak

age is not cov
er
ed
 by this

warranty.

T
o 

ma
k
e 

a
 
c
la

i
m 

u
n
d
er

 
this warranty, contact

o
u
r 

c
u
st

o
me

r
 
s
er

v
ic

e department at the
a
ddre

ss
 a
nd pho

ne
 n
um
ber 

sh
own 

below.
 A

written return authorization form will be
sen

t 
to
 y
ou with 

sp
ecif

ic
 instructi

ons.

C
U
S
T
O
ME
R
 
S
E
R
V
I
C
E
 
DE
P
A
R
T
M
E
N
T

50
0
-
5
50

 
E
. 

Erie Avenue
P
hi

la
d
el

p
h
i
a, PA 19134

T
el

 :
 
21

5
-423-8880

F
ax

 :
 
21

5
-423-8882

Re
tu

rn
s
 
an

d 
C
on

di
tions of Warranty

R
e
t
u
r
ns

 
m
u
s
t
 
b
e
 
p
r
e
-
a
u
t
h
orize

d by contacting our
customer service department

 a
t the ad

dress on the
r
e
v
e
r
se

 
s
i
d
e
.
 
R
e
t
u
r
n
s
 
w
i
l
l onl

y be accepted with a
w
ri
tten r

et
ur
n 
me
rc
ha
nd
is
e 
au
th
or
iz
at
io
n 
an
d return

s
hi

p
p
i
ng

 
c
h
a
r
g
e
s
 
p
r
e
-
p
a
i
d
. We 

reserve the right to
inspect all

 r
et

u
rne

d
 m
er
ch
an
di
se
 to

 f
u
ll
y 
de
termine 

t
he

n
ature of any

 d
ef
e
ct
. 
Th
is
 gu

ar
a
nt
ee
 s
ha
ll
 n
ot ap

pl
y to

any
 p
rodu

ct
 t
ha
t 
ha
s 
be
en
 c
ha
ng
ed
, 
al
te
re
d 
or oth

er
w
ise

m
od

i
f
ie

d
,
 n

o
r
 
s
h
a
l
l
 
i
t
 
a
p
p
ly t

o any product that has
b
ee
n repaire

d 
or
 a
lt
er
e
d 
by 

an
yo
ne
 o
th
er
 t
h
an
 a

p
re-authorize

d 
fa
c
il
it
y.
 W
e w

il
l
 n
ot
 b
e 
re
sp
onsib

le
 for

an
y
 
br

e
a
k
ag

e
 
o
r 

d
a
ma

g
es

 
in

curred during t
ransit

, 
nor

f
o
r 

c
r
ys

t
a
l 

p
ar

t
s
 o

r
 
me

ta
l
 frame pa

rt that have been
s
ub

j
e
c
t 

t
o
 
m
i
s
u
s
e
,
 
n
e
g
l
i
g
e
nc

e, acc
ident or inappropriate

h
andling. Als

o,
 w
e
 w
il
l 
no
t b

e 
h
el
d 
re
sp
on
si
ble f

or
da

m
a
g
e 

i
n
c
ur

r
e
d 

d
u
r
in

g
 i

m
pr

op
er installation or wiring

b
y
 
ot

h
e
r
s,

 n
o
r 

f
o
r 

d
am

a
ge

s
 
resulting fro

m a failure
 to

f
o
ll

o
w
 t

h
e
 r

e
co

m
m
en

d
e
d 

ma
intenance o

r installation
p
rocedures. T

hi
s 
g
ua
ra
nt
ee
 is

 i
s
su
ed
 i
n 
li
eu
 of a

ny
 and

all
 o
ther

 g
ua
ra
nt
ee
d 
or
 w
ar
ra
nt
ee
, 
wh
et
he
r 
writte

n 
o
r

im
pl

i
ed

 
a
nd

 
a
n
y
 
a
n
d
 
a
l
l
 other obligations o

r
l
iabi

liti
es
. 
Fu
rt
her, we neither authorize nor p

erm
it

an
y
 
ot

h
e
r
 p

e
r
s
on

 
o
r 

f
ir

m to assume for
 us, any

l
i
ab

i
l
it

y 
i
n 

co
n
n
ec

t
i
on

 
wi

t
h t

he sale of our products.


